| Efficiency vs Dxy |

> 0.1¢

< F : : : : : : : : :
o - . . . . . . . . .
L
< - T T S S R R R
0 HRGAas AEES SUICE MY SE S
K S S S S N S S N
D07
KT N SR A A N S A S A
e * T e T S
008
T -
O3
L e 0 e
e o e e e

o+

Rati

=
!
+

09 56-16-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_V0001_R000000001__Global _mkFitbase RECO

| Efficiency vs Dz |

—— DQM_V0001_R000000001__Global__CMSSW_X_Y_Z__RECO

N 0.1
© : : : : :
%.09— """"" RRREES (AR e e R AR
o) ? ? ? ? ?
0B
o : : : : :
.07 R R Frrreneeee Frovremeees AR
o : : : : :
0,06+l
0 1 1 T

L e § I T
0.032— --------- 0 M -

0.02F-Ha--|f

i
o+

3020 -10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


